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	Descriptives

	jumlah kematian 
	
	
	
	
	
	
	

	
	N
	Mean
	Std. Deviation
	Std. Error
	95% Confidence Interval for Mean
	Minimum
	Maximum

	
	
	
	
	
	Lower Bound
	Upper Bound
	
	

	= kontrol
	6
	.00
	.000
	.000
	.00
	.00
	0
	0

	= 5 %
	6
	.00
	.000
	.000
	.00
	.00
	0
	0

	= 10%
	6
	.67
	.516
	.211
	.12
	1.21
	0
	1

	= 15%
	6
	2.83
	.753
	.307
	2.04
	3.62
	2
	4

	= 20%
	6
	4.83
	.753
	.307
	4.04
	5.62
	4
	6

	Total
	30
	1.67
	1.988
	.363
	.92
	2.41
	0
	6




	Test of Homogeneity of Variances

	jumlah kematian 
	
	

	Levene Statistic
	df1
	df2
	Sig.

	5.877
	4
	25
	.002




	ANOVA

	jumlah kematian 
	
	
	
	
	

	
	Sum of Squares
	df
	Mean Square
	F
	Sig.

	Between Groups
	107.667
	4
	26.917
	96.131
	.000

	Within Groups
	7.000
	25
	.280
	
	

	Total
	114.667
	29
	
	
	



Post Hoc Tests

	Multiple Comparisons

	jumlah kematian 
LSD
	
	
	
	
	

	(I) variasi 
	(J) variasi 
	Mean Difference (I-J)
	Std. Error
	Sig.
	99% Confidence Interval

	
	
	
	
	
	Lower Bound
	Upper Bound

	= kontrol
	= 5 %
	.000
	.306
	1.000
	-.85
	.85

	
	= 10%
	-.667
	.306
	.039
	-1.52
	.18

	
	= 15%
	-2.833*
	.306
	.000
	-3.68
	-1.98

	
	= 20%
	-4.833*
	.306
	.000
	-5.68
	-3.98

	= 5 %
	= kontrol
	.000
	.306
	1.000
	-.85
	.85

	
	= 10%
	-.667
	.306
	.039
	-1.52
	.18

	
	= 15%
	-2.833*
	.306
	.000
	-3.68
	-1.98

	
	= 20%
	-4.833*
	.306
	.000
	-5.68
	-3.98

	= 10%
	= kontrol
	.667
	.306
	.039
	-.18
	1.52

	
	= 5 %
	.667
	.306
	.039
	-.18
	1.52

	
	= 15%
	-2.167*
	.306
	.000
	-3.02
	-1.32

	
	= 20%
	-4.167*
	.306
	.000
	-5.02
	-3.32

	= 15%
	= kontrol
	2.833*
	.306
	.000
	1.98
	3.68

	
	= 5 %
	2.833*
	.306
	.000
	1.98
	3.68

	
	= 10%
	2.167*
	.306
	.000
	1.32
	3.02

	
	= 20%
	-2.000*
	.306
	.000
	-2.85
	-1.15

	= 20%
	= kontrol
	4.833*
	.306
	.000
	3.98
	5.68

	
	= 5 %
	4.833*
	.306
	.000
	3.98
	5.68

	
	= 10%
	4.167*
	.306
	.000
	3.32
	5.02

	
	= 15%
	2.000*
	.306
	.000
	1.15
	2.85

	*. The mean difference is significant at the 0.01 level.
	
	





















Means Plots
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